L| C}.

ol A

A
T M-

HS
C =

B

e L3t 2ol

SHAH
-1 O

F

7

20

=)

{1
2N

—t

KO
104

10
<!

%0
wl

=
30
=0
xl
10
|
<[D
<M
K0
&l
< =
%0
o
mN I
ol <]
=1
=< K
= e
_.._o _.._o 7_A
) B
oo nE
o<1 X
4 M RO
E K0 <d
o %
< <0<1ar
oI
B0 &0 10 KO

H<IHH

— N <t

50,000 5,000,000 2,000,000

HT=H]|

200,000

SHo=H|

10,000,000

100,000,000 100,000,000



r=
ozt
R
=l

§!
0
(%
o 0
o
Pl
O
d

= 2HIAM =
Z2H=2EFRA(=23 2FAL)
DEM2 D2 BP=E QE TA =0 A
POl AEZ=AIE
XS0 JIHE UEFEQIA, Z&II=X] . =AS0IAl. O AP A A
= eMq
o] 2 Hj EI2H| HAA]
K ZHMBEWHAA (LA HR)
CETIIH| H AA - S A=
AMEE S H(AIHZECHA) &2 £ AR H(AIMHZECIA) AlE2(E =
CHEZ ZE) + ISHA JI2SS A (A2EALA DJITH)
JNE=T; TMZHAO IEDHZ=HAH + MBS
SHEAE010| CF20 A2 HEXNOH AUA| 2240 DQUE oI QI 2=
:)}\ﬂ -Lélfl_lj_
- HUAAZ WA (MRI, CT, X-RAY, 28T HAI £)
CHol MI3X RCHA 2 XZ2H|I94Z=
Hif AfZH
o] =S A E
= ZoHHEM A (EAS L2/ HEA, 22/H 4=, =AS AME S
Hoise 2z, 2 =0 Eal A=




